Content Menu

package main

inmport (
"context"
"t
"gi t hub. cont gogf/ gf / v2/ os/ gct x"
" gi t hub. com gogf/gf/v2/ os/gtine"
"gi t hub. conf gogf/ gf/v2/ os/gtiner"
"time"

SetTimeoutSetinterval
Exit

)

func main() {
var (

ctx = gctx. New()

now = tine. Now()

)

gtimer. AddTi mes(ctx, tine.Second, 10, func(ctx context.Context) {
fmt.Println(gtinme.Now), tine.Duration(tine.Now).
Uni xNano() - now. Uni xNano()))
now = tinme. Now()
b

sel ect {}

2021-05-27 13:28:19 1.004516s
2021-05-27 13:28:20 997. 262ns
2021-05-27 13:28:21 999.972ns
2021-05-27 13:28:22 1.00112s
2021-05-27 13:28:23 998. 773ns
2021-05-27 13:28:24 999. 957ns
2021-05-27 13:28:25 1.002468s
2021-05-27 13:28:26 997. 468ns
2021-05-27 13:28:27 999. 981ns
2021-05-27 13:28:28 1.002504s



package main

inmport (
"context"
"gi t hub. conf gogf/ gf/v2/ os/ gct x"
"gi t hub. contf gogf/ gf / v2/ os/ gl og"
"gi t hub. com gogf/ gf/v2/ os/gtiner"

"time"
)
func main() {
var (
ctx = gctx. New()
interval = tine. Second
)

gtimer. AddSi ngl eton(ctx, interval, func(ctx context.Context) {
glog. Print(ctx, "doing")
tine. Sleep(5 * tine. Second)

1}

sel ect {}

2021-11-14 11:50: 42. 192 {189cwi 9np40cf p73guzhugo100t nuedg} doi ng
2021-11-14 11:50: 48. 190 {189cw 9np40cf p73guzhugol100t nuedg} doi ng
2021-11-14 11:50:54. 192 {189cwi 9np40cf p73guzhugol100t nuedg} doi ng
2021-11-14 11:51:00. 189 {189cwi 9np40cf p73guzhugo100t nuedg} doi ng

Del ayAdd*
package nain

import (
"context"
"t
" gi t hub. cont gogf/ gf/ v2/ os/ gct x"
"gi thub. com gogf/gf/v2/ os/gtime"
"gi t hub. conf gogf/ gf/v2/ os/gtiner"

"time"
)
func main() {
var (
ctx = gct x. New()
del ay = tine. Second
interval = tine. Second
)

fm.Printin("Start:", gtime. Now())
gtinmer. Del ayAdd(
ct X,
del ay,
interval
func(ctx context.Context) {
fmt.Println("Running:", gtine.Now))
3
)

sel ect {}
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Set Ti neout Set | nt er val

Javascri pt Set Ti meout Set Ti meout Set | t er val

package nain

import (

"context"
wftt

" gi t hub. conf gogf/ gf / v2/ os/ gct x"
"gi t hub. conf gogf/ gf/v2/ os/gtine"

"gi t hub. com gogf/ gf/v2/ os/ gti ner

"time"

func main() {

Set I nterval :
Set Ti neout :

var (
ctx = gct x. New()
timeout = time.Second
interval = tine. Second

)

gtimer. Set Ti meout (ctx, timeout, func(ctx context.Context) {
frt.Println("SetTineout:", gtinme.Now))

b

gtimer.Setlnterval (ctx, interval, func(ctx context.Context) {
fmt.Printin("Setlnterval:", gtime. Now))

b

select {}
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package main

inmport (
"context"
"t
"gi t hub. conf gogf/ gf / v2/ os/ gct x"
" gi t hub. com gogf/gf/v2/ os/gtine"
"gi t hub. conf gogf/ gf/v2/ os/gtiner"

"time"
)
func main() {
var (
ctx = gctx. New()
)

gtiner.Setlnterval (ctx, tine.Second, func(ctx context.Context) {
fnt.Println("exit:", gtine.Now())
gtinmer.Exit()

b

select {}

exit: 2021-05-27 13:31:24
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